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OBTAINING OF BARIUM CARBONATEQ SEDIMENTING WITH CARBONE DIOVIDE OUT OF BARIUN SULPHIDE SOLUTION  
Slaveyko Tzvetkov 
University of Mining and Geology “St. Ivan Rilski”, 1700 Sofia, sltzvetkov@mail.bg 
 
ABSTRACT. A variant of carbonate column without mixing mechanism and working by frothing system, that device of hydrodynamic conditions, without frothing 
agents was suggested. That apparatus, known as “Peabody“ tape, is apply to as absorbers, which efficiency reach to 99%. 
As much higher is the layer of the froth as the, process of gas exchange is intensive. 
Experimentally determined results on this apparatus of column iron construction, with four sections and vapour-liquid mixture separating box, manometer, reometer 
and heater for solution, was obtained. 
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Na2SO4, MgSO4, ZnSO4, Ca(NO3)2, KC ,  K2CO3,   MgC 2. 

 
, -

,  
 , , 

.,  
  

 
 
 
, 
 
 

.  
,  

 
,  

,  

mailto:sltzvetkov@mail.bg
mailto:sltzvetkov@mail.bg


 147

,  
 

, -
-

, . 
,  

,  „Peabody”,  
,  

, , 
 99%. 

 
, -

-
. 

 
 

,  
, , -

-
,  

 
.  

, ,  
: 

 
               n2   n3     nm 
 
    K1 =  A . K2 . K3…….K m     
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   2 A   +  3 S  =  A 2S3 
 

   Cu  +   S   =  CuS 
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 (  BaSO4 ). 

 
 

 
 

 
 

,  
,  

,  
,  

 
,  

. 
 

.1. 
 

 
,  

,  
 

,  
.   



 148

 
.1.  

 
 

 
 ,  

, 2.  
 3,  

 5.  10 – 
15 .,  

. 
 

 
 54,5 g/dm3  

 1  
 5'  

,  10, -
 12  

.  
 15 .,  

,  
 7.  

 
 8,  9  

. ,  
,  

 13, .  
 4. 

       
 

 
 

,  
. 

 ,  
, 

.  
 , , 

-
,  2 – 3 

.  
,  

. 
 

 
,  

,  
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 ml  Vk ,  
 

 0,09 – 0,20 dm3/min   
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            G = Km.V. I.   
 

: G – ,  
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 V  = 0,140 dm3/min ,  V  = 0,20 dm3/s 

 25 ,  Km –  
, V – , I – 

,  - -
. m.  

m,  
 Nu, Re  Pr,  
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m  n . 
 

,  V  = 0,140 dm3/min, 
 V  = 0,20 dm3/min  25 ,  

,  
 

, -
m  

 : 
 
 

       Nu = 6,43; Re = 131; Pr = 41,30=102,  
: 

 
        g 6,43 = g A + m g 131 +  n g 4130 
 

  V  = 0,360 
dm3/min,   V  = 0,09 dm3/min  
25 , : 
 
        g 22,5 = g A + m g 59 +  n g 4130 
 

 V  = 0,360 dm3/min, 
 V  = 0,09 dm3/min  85  

: 
 
         g 3,1 = g A + m g 87,2 +  n g 4410 
 

 
 : 

 
         g 6,43 = g A + m g 131  +  n g 4130 
         g 22,5 = g A + m g 59,0 +  n g 4130  
         g 3,1  = g A + m g 87,2 +  n g 4410 
 

 
 = 1.10-1,94 , m = 2,05 ,  n = -0,4. 
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